Foundations of Analysis II Week 3

Domingo Toledo



University of Utah

Spring 2019



▲□▶▲圖▶▲≣▶▲≣▶ ■ 少�?



Proof of Stone's theorem



もしゃ 山田 そばや (川田) (日)

$$\begin{cases} \mathcal{J}_{Y} y_{1} = -, y_{1}, y_{n} & \mathcal{J}_{Y} y_{0} & (Y = \mathcal{F}(X) \\ \mathcal{J}_{Y} y_{0} & (y_{1}) = \mathcal{F}(y_{0}) \\ \mathcal{J}_{Y} y_{0} & (z_{1}) = \mathcal{F}(y_{0}) - \varepsilon \\ & \mathcal{J}_{Y} & \mathcal{J}_{Y} & \mathcal{J}_{Y} \\ \end{pmatrix}$$

$$lot g_{y} = max \left\{ \mathcal{J}_{Y}, g_{1}, 1 - -1 \mathcal{J}_{Y}, g_{y} \right\}$$

$$lot g_{y} = max \left\{ \mathcal{J}_{Y}, g_{1}, 1 - -1 \mathcal{J}_{Y}, g_{y} \right\}$$

$$u_{y} = u_{y} = u_{y} \\ \mathcal{J}_{Y} & \mathcal{J}_{Y} & \mathcal{J}_{Y} \\ \mathcal{J}_{Y} \\ \mathcal{J}_{Y} & \mathcal{J}_{Y} \\ \mathcal{J}$$

• There exist $x_1, \ldots, x_m \in K$ and an open cover $\{V_1, \ldots, V_m\}$ of K such that $x_i \in V_i$ and $g_{x_i}(z) < f(z) + \epsilon$ for all $z \in V_i$.

$$\begin{aligned} g_{\mathcal{P}_{o}}^{(k_{o})} &= f(r_{o}) \quad \text{L cover = Jound V_{\mathcal{P}_{o}}$ of for \\ g_{\mathcal{P}_{o}}(2) &= f(2) + \mathcal{E} \quad \forall \quad \mathcal{E} \in V_{\mathcal{P}_{o}} \end{aligned}$$

► Let
$$\widehat{g}$$
 = min{ g_{x_1}, \ldots, g_{x_m} } Then $g \in \mathcal{F}$ and $|f(z) - g(\overline{z})| < \epsilon$ for all $\overline{z} \in K$.

▲□▶▲圖▶▲≣▶▲≣▶ ■ のQで

f(z)-E - g(z) - f(z) +E + ZEK I remail churs La bassi

- ▲ ロ ト ▲ 昼 ト ▲ 臣 ト ▲ 国 ト → の へ ()・

Stone'-Weierstrass Theorem

Theorem

- *K* compact space and A =sub-algebra of $C(K, \mathbb{R})$.
- Suppose A separates points and vanishes at no point.
- Then the uniform closure of \mathcal{A} is all of $\mathbb{C}(K,\mathbb{R})$



Proof of Stone-Weierstrass



$$P_n(f) \in \mathcal{Q} \quad \& \quad p_n(f) \rightarrow |f| \quad \text{and} \quad n \notin \mathcal{K},$$

$$\bullet \quad f, g \in \mathcal{B} \Rightarrow \max\{f, g\}, \min\{f, g\} \in \mathcal{M} \quad f \neq g \notin \mathcal{B} \Rightarrow |f \neq g \notin \mathcal{B} \Rightarrow \prod_{g \in \mathcal{B}} |f \neq g \notin \mathcal{B} \Rightarrow \lim_{g \in \mathcal{B}} |f \neq g \notin \mathcal{B} \Rightarrow \lim_{g \in \mathcal{B}} |f \neq g \notin \mathcal{B} \Rightarrow \lim_{g \in \mathcal{B}} |f \neq g \notin \mathcal{B} \Rightarrow \lim_{g \in \mathcal{B}} |f \neq g \notin \mathcal{B} \Rightarrow \lim_{g \in \mathcal{B}} |f \neq g \notin \mathcal{B} \Rightarrow \lim_{g \in \mathcal{B}} |f \neq g \notin \mathcal{B} \Rightarrow \lim_{g \in \mathcal{B}} |f \neq g \notin \mathcal{B} \Rightarrow \lim_{g \in \mathcal{B}} |f \neq g \notin \mathcal{B} \Rightarrow \lim_{g \in \mathcal{B}} |f \neq g \notin \mathcal{B} \Rightarrow \lim_{g \in \mathcal{B}} |f \neq g \notin \mathcal{B} \Rightarrow \lim_{g \in \mathcal{B}} |f \neq g \notin \mathcal{B} \Rightarrow \lim_{g \in \mathcal{B}} |f \neq g \notin \mathcal{B} \Rightarrow \lim_{g \in \mathcal{B}} |f \neq g \notin \mathcal{B} \Rightarrow \lim_{g \in \mathcal{B}} |f \neq g \notin \mathcal{B} \Rightarrow \lim_{g \in \mathcal{B}} |f \neq g \notin \mathcal{B} \Rightarrow \lim_{g \in \mathcal{B}} |f \neq g \notin \mathcal{B} \Rightarrow \lim_{g \in \mathcal{B}} |f \neq g \notin \mathcal{B} \Rightarrow \lim_{g \in \mathcal{B}} |f \neq g \notin \mathcal{B} \Rightarrow \lim_{g \in \mathcal{B}} |f \neq g \notin \mathcal{B} \Rightarrow \lim_{g \in \mathcal{B}} |f \neq g \notin \mathcal{B} \Rightarrow \lim_{g \in \mathcal{B}} |f \neq g \notin \mathcal{B} \Rightarrow \lim_{g \in \mathcal{B}} |f \neq g \notin \mathcal{B} \Rightarrow \lim_{g \in \mathcal{B}} |f \neq g \notin \mathcal{B} \Rightarrow \lim_{g \in \mathcal{B}} |f \neq g \notin \mathcal{B} \Rightarrow \lim_{g \in \mathcal{B}} |f \neq g \notin \mathcal{B} \Rightarrow \lim_{g \in \mathcal{B}} |f \neq g \notin \mathcal{B} \Rightarrow \lim_{g \in \mathcal{B}} |f \neq g \notin \mathcal{B} \Rightarrow \lim_{g \in \mathcal{B}} |f \neq g \notin \mathcal{B} \Rightarrow \lim_{g \in \mathcal{B}} |f \neq g \notin \mathcal{B} \Rightarrow \lim_{g \in \mathcal{B}} |f \neq g \notin \mathcal{B} \Rightarrow \lim_{g \in \mathcal{B}} |f \neq g \notin \mathcal{B} \Rightarrow \lim_{g \in \mathcal{B}} |f \neq g \notin \mathcal{B} \Rightarrow \lim_{g \in \mathcal{B}} |f \neq g \notin \mathcal{B} \Rightarrow \lim_{g \in \mathcal{B}} |f \neq g \notin \mathcal{B} \Rightarrow \lim_{g \in \mathcal{B}} |f \neq g \notin \mathcal{B} \Rightarrow \lim_{g \in \mathcal{B}} |f \neq g \notin \mathcal{B} \Rightarrow \lim_{g \in \mathcal{B}} |f \neq g \notin \mathcal{B} \Rightarrow \lim_{g \in \mathcal{B}} |f \neq g \notin \mathcal{B} \Rightarrow \lim_{g \in \mathcal{B}} |f \neq g \notin \mathcal{B} \Rightarrow \lim_{g \in \mathcal{B}} |f \neq g \notin \mathcal{B} \Rightarrow \lim_{g \in \mathcal{B}} |f \neq g \notin \mathcal{B} \Rightarrow \lim_{g \in \mathcal{B}} |f \neq g \notin \mathcal{B} \Rightarrow \lim_{g \in \mathcal{B}} |f \neq g \notin \mathcal{B} \Rightarrow \lim_{g \in \mathcal{B} \to \mathcal{B} \Rightarrow \mathcal{B} \Rightarrow \lim_{g \in \mathcal{B} \to \mathcal{B} \to \mathcal{B}$$

▲□▶▲□▶▲≣▶▲≣▶ ≣ め∢⊙

 \mathcal{B}

Stone-Weierstrass for Complex Functions

Definition, seeks \mathcal{C} A Calgebra \mathcal{A} of complex functions on a set E is called self-adjoint if and only if it is closed under complex conjugation: $f \in \mathcal{A} \Rightarrow \overline{f} \in \mathcal{A}$.

Theorem

- *K* compact space and A = self-adjoint sub-algebra of $C(K, \mathbb{C})$.
- Suppose A separates points and vanishes at no point.
- Then the uniform closure of \mathcal{A} is all of $\mathcal{G}(K,\mathbb{C})$

Proof

- Let $\mathcal{A}_{\mathbb{R}}$ be the collection of real functions in \mathcal{A} .
- If $f = u + iv \in A$, u, v real functions on K, then

$$u = \underbrace{(f) + (\overline{f})}_{2}$$
 and $v = \underbrace{f - \overline{f}}_{2i}$ are both $\in \mathcal{A}_{\mathbb{R}}$

• Thus
$$\mathcal{A} = \{ \mathbf{u} + i\mathbf{v} : \mathbf{u}, \mathbf{v} \in \mathcal{A}_{\mathbb{R}} \}$$

Apply Stone-Weierstrass to A_R

▲□▶▲圖▶▲≣▶▲≣▶ ≣ のQ@

Applications



9, + az t? + ay to -- @ [01]

Let P^{ev} be the subalgebra of P consisting of polynomials with all monomial terms of even degree. Then the uniform closure of P^{ev} in C([0, 1]) is all of C([0, 1]).





Which hypothesis of Stone-Weierstrass fails?

Sy ps er ev nor al

Chip: power stars e^{y} , e^{y} , e^{y} , e^{y} , m. from $e^{i\frac{y}{2}} = 0 + (i\frac{y}{2}) + (i\frac{y}{2})$

Trigonometric Polynomials and Fourier/Series



コント 4 日 2 4 日 2 4 日 2 9 0 0 0



A torson poly of degree

$$f(\theta) = \sum_{n=-N}^{N} C_n = c_n \theta$$

$$N = C_0$$

$$N = C_0 = c_0 + C_0 + C_0 e^{i\theta}$$

$$N = C_0 = c_0 + C_0 + C_0 e^{i\theta} + C_0 e^{i\theta}$$

$$E^{i\theta} = e^{i\theta} + c_0 = c_0 + C_0 + C_0 e^{i\theta} + C_0 e^{i\theta}$$

$$E^{i\theta} = e^{i\theta} + c_0 = c_0 + C_0 + C_0 e^{i\theta} + C_0 e^{i\theta}$$

$$E^{i\theta} = e^{i\theta} + c_0 = c_0 + C_0 + C_0 e^{i\theta} + C_0 + C_0 e^{i\theta}$$

$$E^{i\theta} = e^{i\theta} + c_0 = c_0 + C_0 + C_0 + C_0 e^{i\theta} + C_0 + C_0 e^{i\theta}$$

$$E^{i\theta} = e^{i\theta} + c_0 = c_0 + C_0 + C_0 + C_0 e^{i\theta} + C_0 +$$

 \mathcal{N}

 $C_{-N} \stackrel{e^{-CN/6}}{=} + C_{-(N-7)} e^{-CE_{-N/1}/6} + - e_{-1} e^{-CE_{-1}} + C_{1} e^{CE_{-C}} + C_{1}$ - (VIM)

AFV

-N

-1

- Check that $\mathcal{A} \subset \mathcal{C}(S^1, \mathbb{C})$ is a self-adjoint algebra that \wedge separates points and does not vanish at any point.
- Stone-Weierstrass \Rightarrow the uniform closure of \mathcal{A} is $\mathcal{C}(\mathcal{S}^1, \mathbb{C})$
- Any continuous C-valued periodic function on R with period 2π can be uniformly approximated by trigonometric polynomials.

 $\left(\sum_{n=1}^{N} C_{n} e^{i n \sigma}\right) \left(\sum_{n=1}^{M} a_{n} e^{i \left(\frac{1}{\sigma}\right)}\right)$ Cmae ec (n+l) b 800

- * ロ ト * 昼 ト * 臣 ト * 臣 * の へ ()・

= Z (Z chike) e c(nue)o UTA -M cine cine entre e cine entre fittano Cn - N Cn = (an-ibn) an, bn ER

N $(a_n - cb_n)$ (con $\theta + cinen \theta$) 5 E Z (an enno + banano) + -N pert dy Ga n= upa, +7 Zancono+ hn suno) E

▲□▶▲□▶▲□▶▲□▶ ■ のへの

Real Trigonometric Polynomials

My truspely Z'en eine Dix n=-N



 $e^{ix} x e^{R} = \sum_{n=1}^{V} \overline{c_n} e^{-in\theta}$ $= e^{-ix}$ $\sum_{n=1}^{V} \overline{c_n} e^{-in\theta}$ $p_{i} e^{ix} - c_{ix} x + c_{ix}$

▲□▶▲圖▶▲≣▶▲≣▶ ≣ の�?

$$e^{cY} = c_{2X} = c_{3VnX} = c_{3}(-x) + c_{3n}(-x)$$

$$= e^{c(-x)} = e^{-c_{X}}$$

$$Fourier : Solving partial dir
PDE's$$

~

▲日▼▲□▼▲Ⅲ▼▲□▼ 一回▼

$$\sum_{h=-\infty}^{\infty} c_n e^{in\theta}$$

$$\frac{d}{dt} \left(\sum_{-\infty}^{d} c_n e^{in\theta} \right)$$

$$\frac{d}{dt} \left(\sum_{-\infty}^{d} c_n e^{in\theta} \right)$$

$$= \sum_{-\infty}^{\infty} in C_n e^{in\theta}$$

$$\frac{d}{dt} e^{in\theta} e^{in\theta} e^{in\theta}$$

$$\frac{d}{dt} e^{in\theta} e^{in\theta} e^{in\theta} e^{in\theta}$$

$$\frac{d}{dt} e^{in\theta} e^{in\theta} e^{in\theta} e^{in\theta}$$

$$\frac{d}{dt} e^{in\theta} e^{in\theta} e^{in\theta} e^{in\theta}$$

$$\sum_{-\infty}^{n} c_{n} e^{in\theta} e^{in\theta}$$

$$\sum_{n=-\infty}^{n} c_{n} e^{in\theta}$$

$$\sum_{n=-\infty}^{n} c_{n} e^{in\theta}$$

$$\sum_{-\infty}^{n} c_{n} e^{in\theta}$$

$$\sum_{-\infty}^{n} e^{in\theta}$$

$$\frac{\int e^{\varphi}}{\int e^{\varphi}} \int e^{\varphi} \sum \sum |e_{n}|^{\varphi} \cos \varphi$$

$$\frac{\int e^{\varphi}}{\int e^{\varphi}} \int e^{\varphi} \cos \varphi$$





▲□▶▲□▶▲≡▶▲≡▶ ≡ のへぐ

(e^{imv}e^{ind}zⁱ e^{imb} e^{-inb} db $= \int_{\delta}^{n_{t}} e^{c(m-n)\delta} dG$ $= \int \frac{e^{c(m-n)\delta}}{m-n} \int_{\delta}^{n_{t}} d\sigma m dn$ $= \int \frac{\int_{\delta}^{n_{t}} d\sigma}{\int_{\delta}^{n_{t}} d\sigma} m d\sigma$ $= \int \frac{\int_{\delta}^{n_{t}} d\sigma}{\int_{\delta}^{n_{t}} d\sigma} m d\sigma$ 25,707 = Z 14,12 y,2 G & FF C/R 7,1--142 Sfg dy - computer 9,9,++42(x = (19,9) きょうかい 聞い ふぼう ふぼう きょう a tort -----

 $\left(\begin{array}{c} 2\pi \\ e^{im6} e^{-in6} do = \\ 2\pi \\ ijm = n \end{array} \right)$ Et y fum O-N Systen VIR Ortho-normal (e^(mé)) orts intere is ON if Se qm (x) do e^{me} ON The N Norther Norther Normale (L is men) (Ex (Ex E) E Dage



 $\int \left(\frac{2e^{-\lambda}}{2} \right)^2 dy = \frac{2e^{-\lambda}}{2e^{-\lambda}} - \frac{2e^{-\lambda}}{2e^{-\lambda}} - \frac{2e^{-\lambda}}{2e^{-\lambda}} = \frac{2e^{-\lambda}}{2e$

▲□▶▲圖▶▲圖▶▲圖▶ ▲圖 シスの



- Call this space L²[a, b].
- It is a complex inner product space, just as \mathbb{C}^n .
- Think first of \mathbb{R}^n , length, angles, etc.



• If
$$\{\phi_n\}$$
 is an ON system in $L^2[a, b]$, and

$$\int f = \sum_{a}^{b} c_n \phi_n \quad f_{v_n} \quad o_n \quad o_n$$
recover the c_n from f by
 $c_n = \int_a^b f(x) \overline{\phi_n(x)} dx \quad f_{v_n}$
• c_n called the Fourier coefficients of f .
• Write
 $f \sim \sum c_n \phi_n$

$$\int \left(\frac{\sum_{n=1}^{V} \varepsilon_n q_n \right) \overline{q_n(u)} dv \qquad m \varepsilon_n$$

$$= \sum_{n=1}^{V} C_n \int q_n(u) \overline{q_n(u)} dv$$

$$= 0 \quad \text{d} \quad m \neq u \quad \text{d} \quad \text{smm}$$

$$= 0 \quad \text{d} \quad m \neq u \quad \text{d} \quad \text{smm}$$

$$= 1 \quad \text{d} \quad m \neq u \quad \text{d} \quad \text{smm}$$

$$= \sum_{n=1}^{V} C_n S_{n,n} = C_n$$

$$\int z \quad \text{d} \quad$$

▲□▶▲圖▶▲≣▶▲≣▶ ■ 少々で



- Minimum property:
 s_N is the vector in span of φ₁,..., φ_n closest to *f*
- Same: *s_N* is the orthogonal projection of *f* on the span of *φ*₁, ..., *φ_n*

$$f_{j}$$
 cr (q_{j}, \dots, q_{m})

Δ

 $S_N = 1$: Droj' of fon $\langle 2q, -1q_N \rangle$ 1021211 F11,2 - Alert & CC 4, - 14, 8 photo tof

 $Z C_m^2 \neq \int f f^2 dx$ N-2 P Z $Fal² <math>\leq \int_{a}^{b} |f| dy$

felⁿ[ab] - fend f (m) f (m) } = fela(as) = (fini) al For usual Fourier series L²[GS) ~ l² isometry



- ▲ ロ ト ▲ 団 ト ▲ 臣 ト ▲ 臣 ト ○ 日 ・ つ へ ()・



・ロト・< Eト・< E・< Q<()

$$\| f \|_{1} = 0 \neq f = 0$$

$$e_{1} = \frac{1}{2} \int f_{1} = 0 \quad f_{1} = 0$$

$$f_{1} = -7 f \quad descan = -7$$

$$\| = -\frac{1}{2} \int f_{1} = 0 \quad f_{1} = 0$$

$$f_{1} = 0 \quad f_{1} = 0$$

$$f_{1} = 0 \quad f_{1} = 0$$

$$f_{1} = 0 \quad f_{1} = 0$$

$$f_{2} = \int f_{1} f_{1} = 20$$

$$f_{1} = 0 \quad f_{1} = 0$$

$$f_{2} = \int f_{1} f_{1} = 20$$

$$f_{1} = 0 \quad f_{2} = 0$$

$$f_{1} = 0 \quad f_{1} = 0$$

$$f_{2} = \int f_{1} f_{1} = 20$$

$$f_{2} = \int f_{2} f_{1} = 20$$

$$f_{2} = \int f_{2} f_{1} = 20$$

$$f_{2} = \int f_{2} f_{2} = 20$$

$$f_{2} = f_{2} = 20$$

$$f_{3} = 20$$